FDR RESTORATION WORK YEAR (2020-21)

GENERAL ABSTRACT OF COST

BLOCK :-	KUMARKHAND	DISTI	RICT	MADHEPURA
Name of Road		Baghmara-Nainpatti		
	L. WA. Harrier was			

S.No.	Description of Items	The state of the s	Amounts
Α	TOTAL COST OF RESTORATION	Rs.	367208.93
В	Seigniorage Fees	Rs.	18641.00
С	Add @12% GST	Rs.	44065.07
D	Add @1% Labour Cess	Rs.	3672.09
TTY.	Total (A+B+C+D)	Rs.	433587.09
	Say	Rs.	433587.00

IF

RWD(W)Div. Madhepura

RWD(W)Div. Madhepura

RWD(W)Div. Madhepura

		Details of M	easur	ement			
	क	ार्य का ब्यौरा	संख्या	Measurement			
	Dea	No.	लम्बाई in m.	चौड़ाई In m.	In m.	मात्रा Quantity	
NAME OF V	VORKS :-		Baghma	ra-Nainpa	<u> </u>		
Item No. 1	Sand Fillin	g in ditch & breach portion of road	as per Dr	awing & Te	chnical Spec	cification.	
C e			0	30	1.6	6.00	0.000
Item No. 2	. 2 Laying Brick Bat Total (in Cum)						0.000
Item No. 2	Laying bild	K Bat					
			1	6	6.00	1.60	57.600
			2	4	1.50	0.50	6.000
			2	7	1.60	1.60	35.840
			1	12	1.80	1.70	36.720
			1	15	1.60	1.50	36.000
			-	Т	otal (in Cum	1	172.160
TOM NIA 3	Il obour for						
item No. 3	driving etc.	cutting 62mm to 75 mm dia bambo complete job as per specification a	ind direction	size and ma on of E/I	aking shoes		
item No. 3	driving etc.	cutting 62mm to 75 mm dia bambo complete job as per specification a	ind direction	size and mo	aking shoes	1.25	37.500
Item No. 3	Labour for driving etc.	cutting 62mm to 75 mm dia bambo complete job as per specification a	ind direction	size and moon of E/I	aking shoes	1.25	37.500 67.500
item No. 3	Labour for driving etc.	cutting 62mm to 75 mm dia bambo complete job as per specification a For Bamboo pilling 1.25m	and direction 30 54	on of E/I	aking shoes Total (in m)	1.25	37.500
Item No. 3	Labour for f	For Bamboo pilling 1.25m itting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction	30 54 40 en chachar	on of E/I	Total (in m)	1.25 1.25 1.25	37.500 67.500 50.000
	Labour for f wire or 75 r complete jo	For Bamboo pilling 1.25m For Bamboo wove For Bamboo pilling 1.25m F	and direction 30 54 40 en chachar ely includir of E/I 0	on of E/I	Total (in m) n with 20 swg 3.1. wire or no	1.25 1.25 1.25	37.500 67.500 50.000
	Labour for f wire or 75 r complete jo	For Bamboo pilling 1.25m itting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction	and direction 30 54 40 en chachar ely includir	on of E/I	Total (in m) n with 20 swg G.I. wire or no	1.25 1.25 1.25 1.25	37.500 67.500 50.000 155.000
tem No. 4	Labour for f wire or 75 r complete jo	For Bamboo pilling 1.25m itting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm	and direction 30 54 40 In chachar ely includir of E/I 0 0	ri in position ng cost of C	Total (in m) n with 20 swg 3.l. wire or no 2 2 2 otal (in sqm	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000
tem No. 4	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m For Bamboo wove For Bamboo pilling 1.25m F	and direction 30 54 40 In chachar ely includir of E/I 0 0 orunners luding cos	in position 10.5 10.7 To in position of G.I windst of G.I windst	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000
tem No. 4	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m fitting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm fitting and fixing 75 mm dia bamboo m long nails or 38 swg G.I. wire incl	and direction 30 54 40 In chachar ely includir of E/I 0 0 runners luding cos	in position of E/I 10.5 10.7 To in position of G.I windst of G.I windst	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000
tem No. 4	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m fitting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm fitting and fixing 75 mm dia bamboo m long nails or 38 swg G.I. wire incl	and direction 30 54 40 In chachar ely includir of E/I 0 0 runners luding cos 3 3	in position 10.5 10.7 To in position of G.I win 6 22	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000 0.00 0.00
tem No. 4	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m fitting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm fitting and fixing 75 mm dia bamboo m long nails or 38 swg G.I. wire incl	and direction 30 54 40 40 en chachar ely includir of E/I 0 0 co runners luding costal 3 3 4	in position 10.5 10.7 To in position of G.I wind to f G.I wind to f G.I wind find the first section of G.I wind find find find find find find find f	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000 0.00 0.00 0.00 18.00 66.00 136.00
tem No. 4	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m fitting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm fitting and fixing 75 mm dia bamboo m long nails or 38 swg G.I. wire incl	and direction 30 54 40 40 en chachar ely includir of E/I 0 0 corunners luding cost 3 3 4 3	in position of G.I winds of G.I	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000 0.00 0.00 0.00 18.00 66.00 136.00 36.00
	Labour for f wire or 75 r complete jo For Chair Labour for f with 150 mr	For Bamboo pilling 1.25m fitting and fixing Split bamboo wove nm to 100 mm long nails alternative b as per specification and direction Size 6m*2m, Ch km chary 01 no. Bamboo=1.413 sqm fitting and fixing 75 mm dia bamboo m long nails or 38 swg G.I. wire incl	and direction 30 54 40 40 en chachar ely includir of E/I 0 0 co runners luding costal 3 3 4	in position of G.I win for G.I	Total (in m) n with 20 swg 3.1. wire or no 2 2 otal (in sqm at every vert	1.25 1.25 1.25 2 G.I ails	37.500 67.500 50.000 155.000 0.00 0.00 0.00 18.00 66.00 136.00

					T	_			000.00
							Total (in m)		688.00
						T	otal (in nos.)	114.67
tem No. 7	l abour fillin	20 00000							115.00
em No	including s	upply of su on and dire	ement bautli and Ec	gs with looca bag etc. all	al sand, stite complete a	ching the ba	gs and placir red desing,	ng	
					4	32	T		128.00
					3	9			27.00
					4	12			48.00
					3	44			132.00
					5	24	1		120.00
					5	30			150.00
						Total (in nos.)		605.00
						Total (in	% nos.)		6.05
tem No. 8	Supply of	Nylon Crat	e of size 1	mx1mx1m a	t site	13331 (1)			
					1	6.05			6.05
		. 15		Ch ki					0
						Total (i	in nos.)		6.05
tem No. 9	placing in	n Nylon cra	ate of size at site in d	nt bags with (1 m x 1 m > ry portion all cation and di	(1 m) with l complete a	ead of 150 N s per approv	1 including		
					1	6.05	1	0.5	3.03
				Ch k	m 0				0.00
	T	T	T	T. K			Total	(in cum)	3.03
					1nos=m3/0	.034*25	Total (in per	<u> </u>	3.56
					1		T		4.00
	1	1			Canasata Dia	e NP3 as ne	er design in S	ingle	
Item No. 10	D Providing	and Laying	g Reinforc	ed Cement C	oncrete Fib	от о до ра			
llem No. 10	0 Providing Row(1000	and Laying Imm Dia).	g Reinforc	ed Cement C		3	2.5		0.00

Schedule of Quantity

NAME OF WORKS : Baghmara-Nainpatti

BLOCK KUMARKHAND

No	SOR NO	OF ITEMS DESRIPTION	QTY	UNIT	RATE	AMOUNT
1	12.3	Sand Filling in Foundation Trenches as per Drawing & Technical Specification.	0.00		554.03	0.00
2	A/R	Providing & laying Brick Bat	0.00	Cum	554.03	0.00
		Providing and laying of Brick bat obtained from chimney with machenical means with all spreading, grading to required slope and compacted at OMC to acheive required density with all complete as per the direction of engineer in charge.		Cum	1856.19	319562.18
3	5.7.7	Labour for cutting 62mm to 75 mm dia bamboo piles to size and making shoes and driving etc. complete job as per specification and direction of E/I	155.00	m	27.90	4324.50
4	5.7.8	Labour for fitting and fixing Split bamboo woven chachari in position with 20 swg G.I wire or 75 mm to 100 mm long nails alternatively including cost of G.I. wire or nails complete job as per specification and direction of E/I	0.00	sqm	73.60	0.00
5	5.7.9	Labour for fitting and fixing 75 mm dia bamboo runners in position at every vertical pole with 150 mm long nails or 38 swg G.l. wire including cost of G.l wire or nails complete job as per specification and direction of E/l	316.00	m	5.00	1580.00
6		Supply of Bamboo at site.	115.00	nos.	158.44	18220.34
7	5.7.40.1	Labour filling empty cement bags with loocal sand, stitching the bags and placing including supply of sutli and EC bag etc. all complete as per approved desing, specification and direction of E/I	6.05	Per %	3300.20	19966.21
8		Supply of Nylon Crate of size 1mx1mx1m at site.	6.05	Each	42.20	255.31
9	5.7.40.2	Labour for filling empty cement bags with loocal sand, stitching the bags and placing in Nylon crate of size (1 m x 1 m x 1 m) with lead of 150 M including supply of sutli etc. at site in dry portion all complete as per approved design, specification and direction of E/I	4.00	Each	825.10	3300.40
10	9.3	Providing and Laying Reinforced Cement Concrete Pipe NP3 as per design in Single Roww(1000mm Dia).	0.00	m	3762.90	0.00
		Total			Rs.	367208.93

Directed 12/020

AE 30/12/020

EE W